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(1) NFCasa contactless
communication technology
that uses 1||.:|H waves tor
transmitiing information.

(2) NFCis designed for use by devices
which can be at a short distance
of about 10 em from each other.

(3) NFC can use encryption when
sending sensitive information.

(4) NFC can be fitted into smart

phones.

o DOS is a form of eyber attack. It
prevents the actual user from accessing
their own data. DOS stands for

(1) Denial of Service

(2) Disturbed Operating System
(3) Dysfunctional Operator Service
(4) Disk of Shadows

3. In which of the following Features of
Indus Valley Civilization do we find
strict uniformity ?

(1)_ Agnculhual practices
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5. What was the correct chronology ol
dynasties that ruled Vijayanagar ?
(1) Sangama, Tuluva, Saluva,

Aravidu
(2) Tuluva, Sangama, Saluva,

Aravidu

(3) Aravidu, Sangama, Tuluva,
Saluva,

(4) Sangama, Saluva, Tuluva,
Aravidu

6. Which one of the following features of
the Fundamental Rights under Indian
Constitution is not correct ?

(1) They are above ordinary laws
(2) They are absolute

(3) They are justiciable

(4) They are six in number

7. Which of the following is incorrect ?
(1) The Prime Minister is appointed
by the President.
(2) The Oath of office of Council of
Ministers is administered by
Prime Minister.

(3) The Ministers hold office during
the pleasure of the President.
(4) The Council of Ministers is

collectively responsible to the Lok
Sabha.

8. Which of the following would not be a
feature of the Indian Constitution ?
(1) A written, lengthy and .
comprehensive document
(2) A document that has been framed
after ransacking all the known
- gnnia_ntutinns of the world
arliamentary Syste
Centre and theySta}::ea L the

(4) Sovereignty of Parliament
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9. Whie h of the following Parts .
Constitution 18 incorrectly mate haod
List - 1 List = I
Part Dealing with
(1) Part-1l Citizenship
() Part-IX Panchayats
(3) Part-XX\ Municipalities
(4) Part-XIV Services under
the Union and
the States

ol the

10. Who among the following was the
Chairman of the Union Constitution
Committee of the Constituent
Assembly ?

(1) Dr. B. R. Ambedkar
(2) Dr. Rajendra Prasad
(3) Sardar Vallabhbhai Patel
(4) Pandit Jawaharlal Nehru

Which of the following is a part of
‘Aksai Chin’ region ?

(1) Karakoram Range

(2) Siwalik Range

(3) Kashmir Valley

(4) Ladakh Plateau

12. Match List - [ and List — II and select
the correct answer from code given

11.

- List-1 List - I1
_ (Project) (Location)
e A 1. Krishna

2. Periyar
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13. The highest peak of the Eastern Ghats
is situated in which of the following
District of Andhra Pradesh 7
(1) Vyayanagaram
(2 Snkakulam
() Visakhapatnam
(4) Prakasam

14. Consider the following statements
the Integrated Textile Park
Scheme of the Central Government
wwulduringﬂwx Five Year Plan
and select the correct statements
A The objective of the scheme is to
create world class infrastructure
facilitios for setting up of textile
B. Five textile parks have been
sanctioned for Andhra Pradesh
ull 2020.
(1) Aonly
(2) Bonly
(3) Both Aand B
(4) Neither A nor B

18, arap S, 99
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If they interchan
Sfteenth from the left. How

becomes |
many students are in the row ?

(1) 23 aante ?
(2) 27 (1) 23
3y 9 (2) 27
(3) 28 3) 28
(4 31 (4) 31

Directions (Q. No. 17-19) : The sentences Directions (Q. No. 17-19) : The sentencos
siven below have one blank. A blank | given below have one blank. A b‘lank
indicates that something has been omitted. indicates that something has been omitted.

Beneath the sentence are four words or sets | Beneath the sentence are four words or sets
of words. Choose the word that best fits the | of words. Choose the word that best fits the

meaning of the sentence as a whole. meaning of the sentence as a whole.

17. Medieval Kingdoms did not become | 17. Medieval Kingdoms did neot become

Constitutional republics over night; on Constituional republics over night; on
the contrary the changewas the contrary the change was !
(1) Unexpected (1) Unexpected
(2) Sufficient (2) Sufficient
(3) Gradual (3) Gradual
(4) Unpopular (4) Unpopular

18. Fitness experts claim that jogging is | 18. Fitness experts claim that jogging i

. once you begin to jog » once you begin to jog
;egu.lgrly, you may be ?nable to stop, regularly, you may be unablgl t st:;
me::::i y&i are sure to like it more and because you are sure to like it fnnc:*e anI:f:
; time. more all the time.

(1) Exhausting
(2) Addictive

(3) Overrated
(4) Ilusive

(C)
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19. He was so convinced that people ave | 19. He was 80 convinced :Tot.ﬂiﬁ t.hﬂ he
driven by motives that drivenby ____— - auohit ng
he believed that there was no such believed that there was I
thing as a purely unselfish act. as a purely unselfish act.
(1) Sentimental (1) Sentimental
(2) Altruistic (2) Altruistic
(3) Ulterior (3) Ulterior o
| (4) Intrinsic (4) Intrinsic |
20. “SMART” Police Survey 2019 was | 20. “SMART” 0% 285 2019 S D8
(1) Ministry of Home Affairs (1) Fo& Fo 508857
E:)] Th 'Q&:IT:';;E Council of Indi (2) 33 excdirh Pa
() Sasdar Vellabbbbai Patel (3)75:3003 S0 o5 20Ge57 .
‘National Police Academy (4) 36 Seera SOE V5sE HOD
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(3) aw.a%S. BxeSBoces,
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93. The
Indi ‘
(1) An 1
missile
(2) A drone o
(3) An anti-aireraft missile system

(1) A submarmne

Bronchitis is a disease of which of the
following organs ?

(1) Blood

(2) Bladder

(3) Liver

(4) Respiratory tract

24.

. Consider the following statements
regarding Rajputs of 8" to 14"
Centuries :

A. The term Rajput is derived from
“Rajaputra”, meaning the son of a
ruler.

|5
o

B. They were a group of warriors who

claimed Kshatriya caste status.
The correct statements are
(1) Aonly
(2) Bonly
(3) Both Aand B
(4) None of the above

26. Which of the following were the

methods used by Gandhiji during the
Freedom struggle ?

A. Satyagraha

B. Swadeshi

C. Doctrine of Non-Violence
D. Hindu-Muslim Unity

(1) Aand C

(2) A,Band C

(3) A,Band D

(4) A,B,Cand D

10

23.

24.

25.

26.
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97. Which was the first Gram Panchayat in
the united Andhra Pradesh state to get
;tg records computerised in 1999 ?
(1) Chandragiri Gram Panchayat
(2) Duggirala Gram Panchayat
(3) Gorantla Gram Panchayat
(4) Gudivada Gram Panchayat

98. The First railway line in Andhra in
1864 was commissioned between
(1) Kakinada — Kotipally
(2) Dornakal — Singareni Collaries
(3) Visakhapatnam — Kirandul
(4) Renigunta — Reddipally

99. The Union of India includes which of
the following ?
A. States
B. Union Territories
C. Territories acquired by India
(1) A only
(2) Aand B
(3) A,Band C
(4) A and C only

30. Consider the following statements :

A. The Preamble is not a part of the

Constitution.

B. The Preamble can be amended
only by the procedure mentioned
under Article 368.

- The word ‘Socialist’, ‘Secular’ and

‘Integrity’ were added in 1976 to
the Preamble,

E:ethe above, the correct statements

(1) Aand B
(2) Band C
(3) Aand C
{4) A'B and C
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The Andhra Pradesh L R s
e was abolished for the first time 1M 19

and reconstituted in 2007. According to
the 2007 Act, how many members were
provided for in the council 7

(1) 58

(2) 40

(3) 90

(4) 75

alative C 1l
egislative (ounc ;

“Sambad Kaumudi” is considered to be
one of the first publications in India wnh
a distinct nationalist and democratic
approach. This was Authored by

(1) Ishwar Chandra Vidyasagar

(2) Rajaram Mohan Roy

(3) Fardoonji Murzban

(4) Rabindranath Tagore

32.

‘MAA-Mothers Absolute Affection’ is
a program launched in 2016 with the
attempt to

33.

(1) To generate awareness among
women about the care to be taken
during pregnancy

(2) To educate the women to restrict
the number of children to two

(3) To educate the society to respect
woman in the role of a mother

(4) Bringundiluted focus i
ofbreast feeding
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35. Aarogyashri was a F‘i:i;.::‘-:l}ip E-Iu»_:llllut:n'v
Program initiated by Dr. Y.S. Rajasekhar
Reddy in the year 2007. Which of the
following are true about the program 7

A. The aim of the program was
healthcare for all.

In order to im plement the

programme the government

setup the Aarogyashri Healthcare

Trust.

The Chairman of the trust was the

Minister in charge of Health.

D. The beneficiaries of the scheme
are members of Below Poverty
Line famihies.

(1) Aand B

(2) A,Band D

(3) A,Band C

(4) A,CandD

B.

C.

36. “I measure the progress of a community
by the degree of progress which women
have achieved”. This statement was

made by
(1) Mahatma Gandhi
(2) Dr. B.R. Ambedkar
(3) Smt. Durgabai Deshmukh
(4) Smt. Indira Gandhi

37. Consider the following statements :

A. 'Jagananna Gorumudda’ Scheme
is the new name for the Mid Day
Meal Scheme.

B. In1925 aMid Day Meal Programme
was introduced for disadvantaged
children in Madras Municipal

C ration.

- The Supreme Court of India in the
g‘ﬁht to Food’ case directed all
tntate“ to provide hot cooked meals

Of the pLPrimary school children.

(1) @ the correct statements are
Aonly

@ Aand B

13
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41, How e S related to R 7
(1) Sister-in-law
(2) Daughter-in-law

(3) Niece

(4) Daughter

42. Itis30'clockina watch. If the minute
hand points North-East, in what
direction will the hour hand point ?

(1) South
(2) South-West
(3) North-West

(4) South-East

43. Andhra Pradesh has recently proposed
to have three capitals; Visakhapatnam,
Amaravati and Kurnool following the
principle of decentralization on the
lines of South Africa. Identify the three
cities in South Africa which would
correspond to the same

(1) Cape Town, Tembisa, Port
Elizabeth

(2) Cape Town, Dyrban,
Johannesburg

(3) Pretoria, Cape Town,
Bloemfontein

(4) Benoni, Soweto, Cape Town

f el ) R .-'-'-1 :_::-_.5
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.
42, el
53 r‘;rwb &% (North- East) &
= = A ey
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(1) &80 o (South)
(2) Peodd (South-West)
(3) Traiboso (North-West)

(4) esiyoio (South-East)
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(1) 3538, Db, 26 Jo2as
(2) 3538, 6yS, &rSe8
(3) ©estarr, 35 eTS, 553%0e3S
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44. Whichofthe following cities ig ranked 1 . g dgbom% .
. the top 10 cities in Swachh gurvekshan FBoDH HICS,
e (1) Desafoarés
(1) Vijayawada e
(2) Eluru -
(3) Visakhapatnam
(4) SIS

(4) Tirupati

45. Which of the following statements
is incorrect about Programme for
International Student Assessment
(PISA) 2021 ?

(1) It is an initiative of United
Nations Educational, Scientific
and Cultural Organization

(2) PISA to assess the quality and
inclusivity of school systems in
these countries

| (3) India had participated in PISA
only once in 2009

(4) India is all set to participate in

PISA 2021 after a gap of over a

45. FesoH0 206035858 :&g;aoef R0
(PISA) 2021 180w 50570 LOT)

e olom el

(1) =507 SH T SoB0%0 o))
Koy S SRy BT Boe0

(2) &2 T%MM‘@W SSETes,
13“530359 $BB0S 3;‘;53

(3) Be56yEs008" 2009 &° 68 e.5),V0

(4) 2021 %018 Lre 766 Jsi000
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47. When the present age of father is added |
to the present age of his son, the total
g 38 years. What will be their total age
after 6 years ?

(1) 44

(2) 50

(3) 46

(4) 48

A mixture of 20 litres of sugar and water
contains 10% water. How much water
must be added to this mixture to raise

48.

the percentage of water to 25% ?
(1) 4 litres
(2) 5 litres
(3) 2 litres
(4) 3 litres

49. Find the next aumber in the series.

15. 30, 33, 66, 69,
(1) 72

(2) 124

(3) 156

(4) 138

50. A bag contains 5 Red, 4 Blue and

3 Green balls. If two balls

the balls are red ?
e

45

9

33

1

12

None of these

€Y
(2)

(3)
(4)

are drawn at
random, find the probability ghat both

417.
SosanSd &8
B 0 20080

48.

49.

o BHolc

50.

ysvHA

. %
sy, B8O S
2.8 20830 38 es0x® 6

e braey! Jod ?

(1) 44
(2) 50
(3) 46
(4) 48

20 Bexts 5,0 gsoos” 10% 930 &0 e
oy 25% om0 & gsood 2 I6Y
555 g0 ?

(1) 4o

(2) 5&n

(3) 2 O

(4) 38

15. 30, 33, 66, 69, 56588 BEHToD
o iyl

(1) 72

(2) 124

(3) 156

(4) 138

2.8 9006" b 269, 4 Do, 3 05T
cﬁori:a;m& : oo0. Dot 208083
rgotSarT &%), Dot wofiond A0
oGRS Boerst Job ?

(1)

(2)

S =

(3 1
(4) 2O s
(C)
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bl.

PART - B

Which is used for drying of
ornamentals ?

(1) Silica gel

(2) Corn granules

(3) Both (1) and (2)

(4) None of the above

Alluvial soils are rich in
(1) K0, PO, and Lime
(2) N
(3] F'.’-!. ;*!.-1
(4) Si, Cu

What is the best type of soil in which
to grow parsnips ?

(1) Heavy clay

(2) Sandy

(3) Stony

(4) Peaty

53.

In tractor engine the complete path of
power from the engine to the wheel 18
called
(1) Power Train
(2) Power Wheel
(3) Both (1) and (2)
(4) MNone of these

54.

55. Seed test that provides information
on weed seed and inert material 18
called

(1) Viability test
(2) Wholesomeness test
(3) Clean seed test

(4) Purity test

51, e0sTrO lg}u&:ﬂﬁ

52.

53.

54.

55.

VSVHA

ang,—ﬂ

v nehaAA DB
5 gasaariond 28?7

(1) Hos° 86

(2) 20HE) Kp35e0

(3) (1) B0k (2) BT
(4) RIS

2005 MOBd B8 258 DR amon ?

1) K,0, PO, 450053 Lime

(2) N
(3) Fe, Al
(4) Si, Cu

BT PONCRS GBI $063 28 7
(1) &b eossoe]
(2) ol
(3) ¥

(4) 58

56 3025 308 ool BE0 SE B3 Ay
978 $TG0 LoLI.

(1) 535 89

(2) 5366

(3) (1) HoBoXo (2) Ootir

(4) DI D8 =t
Kero) DES0 DO el STTOR T
woBoD DB 908,

(1) pobdde 585

(2) Horg S0

(3) 35 LE by

(4) R 0%
(C)
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56. Bacte
15 cau

(1) Pseudomonas bacteria

(2) Xanthomonas citri bacteria
(3) Xanthomonas oryzae bacteria
(4) None of the above

rial blight of Rice disease of plant
sed due to which bacteria ?

57. Most suited fruit for jelly making
(1) Mango
(2) Banana
(3) Guava
(4) Citrus

58. Which horticulture scheme is not
made in accordance with Three-Tier-

Panchayati Raj ?
(1) Distribution of seeds and planting
materials
(2) Establishment of plant nursery
(3) Schemes of RKVY
(4) None of the above

59. Tﬂmamfrm:l:s for canning are

......

56. Doty ooy, DO T

Srocsth D g S00NF 92 513300 7
(1) SERTTO e S00I”

@) S bl o0

(3) srpBare ebe T

(4) P90 T

57. 29 BoxrdE T SRIETOON &0l DO
(1) S

(2) esed

(3) o=

(4) 2R

58. et eoDe SoTrandore ES00 J GO
S50 BOXTE> DOXLEEES ? |

;’Jogltg
(2) Dofe 58,0 Jonen
(3) RKVY sgseen
(4) 2D SH

59. S°I0R E50 eRTER D06 Jo7 SOATD 2
(1) SO55; estoHiyy &4
(2) 5 Sods &%

(3) enbsg e 5%
(4) Do Dods/ hed 5%

60. 205 1RS estism 2nsyen 2oIEY
Docers 9 :

@) 303 S

©

(1) DETres So00300 D0 T°E Soge.
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.:|!|.‘-:.|. i : oo e : : e
\mide rartil12ers (2) eRTIOT o)
2 ymmonis rertihzer= (3) TL%ij.:."L.L”.{}-“_;;
\ Nitrale |“i‘!‘1'111:n’.ll‘!'5 = e
. 13 L or Jizer i a5 T i"'::". -':'!&-_rl'ia— bt Tl |
i Ammonia Nitrate Fertilizel (4) €DTROIT L
(4) 4 i r
= ) P .n_‘--::'. r - -— H:::“': wi. n.:\
1 be described as 62. SG0N 3T g 20
(1) ,_Au,xgci"'za::-:-é;x:; et EOD0
g Enl-r QLD : J

Nursery cAr
1gfroot stocks

62.
(1) Area where geedlr
;11-..1_,~.ra:1m1'{-d @) 5 o0 5SS s

(2) Where ngrwuhuru raw materials

are pmduceﬁ
(3) Both (1) and (2)

(4) None of the above

63. Bunchy top digease of Banana plant 18 63, o) DRNOS oy0) LT Ty
caused due to o000
(1) Bacteria (1) ergi0od
(@) oit®
(3) PO

{2y Fungus
(3) Virus
) None of the above

(4
64. Pest control measures are best 64. S Sodoges DO5Hd &5 SI0M° Sape
implememed esen HOLHLETTo) .: 5
(1) Before fruiting starts s 5
: : ] (1) Dermd S5 20000
(2) Before the destructive stage of the A
nest () Bifoos GI0%, DSOS (LS [0l
(3) After plants flower (3) Dout),0 Do BOTE
(4) Afterthe pest starts to destroy the (4) Bross D580 TH A o
lant > padies 2=
P Doodlolh BETE
@5. Xeriscaping is 2 type of landscaping 85, 205 hoh &8 &8 SEF o
that uses plant th y2ioh &R0 8.8 CSaps) TTge= Sy oh,
p that need very little e 2055 20 85 wr e g
: i il bk S ol B gy i By 0
(1) Clean air 1) 3657 9 e ot
._____.x_' N TN
(2) Sunlight o B
(2) ?JFC“.-SS" i
(3) oo

(3) Soil
(4) Water
(C)
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66. Seeds are sowWn immediately after
extraction in which fruit ?
(1) Citrus
(2) Ber
(3) Mango
(4) Jamun

67. Most commonly used vegetative
propagation method in Rose
(1) Layering
(2) Grafting
(3) Budding
(4) Tissue culture

— —

68. The Queen of spices is
(1) Cardamom
(2) Pepper
(3) Ginger
(4) Chilly

69. Azolla is used as biofe
(1) Rhizobium
2 Cyanobacteria
{3) Mymrrhma

t:g of humus

66. D sogd 20O

rtilizer as it has

o
By Dotsn DETO STl

(1) heaR
(2) &b
(3) Sracs
(4) 5209

61, oD ST as@rhod Dom 93 99

SRS

(1) e

(2) @085
(3) @Goh

(4) eI 5&:&5

68, Harol T T
(1) Do

(2) DBolren
(3) wgo

(4) 283

69. Lo pArPPabn &5
JM rj. N R e
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Large flows i earth chansels in 4 canal
Eii!
() Parsball flame

(%) Brsad crested mvetas .
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79, womntised Ry, dl), ACY, BREAS
erme RO DO ArdEon 7
(1) ooy
(2) P
(3) 8%

(4) tiooden

73. Esab dlus), SSERS envio
(1) 320
(2) sobise 2550

() fogg
(4) 25591 3%

74. Sas el Sobel 3596 2y oo
EB300i ool esuredos 50500 hipS
(1) 26305
(2) & BYE bgsosdres B5
() enilis bgssdes bE

pe
76. Lalit is an improved cultivar of
(1) Guava
(2) Ber
(3) Mango
{(4) Aonla

77. In which of the following diseases of
plant chlorophyll of the leaves get
destroyed and leaves get shrinked ?

(1) Mosaic disease of tobacco
(2) Citrus Canker

(3) Tundu disease of wheat
{4) Rhizoctonia

78. Which vegetahle has long storage life ?
(1) Spinach
(2) Tomato
{3) Onion
(4) Brinjal

79. Rooting in stem cuttings are stimulated |

by using

(1) Jasmonic acid
(2) ABA

(3) Ethylene

(4) 1AA






